
U=230V
I=6A
η =80%
Pleadott=1000W

a)
P=? „HATÁSOS”
S=? „LÁTSZÓLAGOS”

S=U*I=230V*6A=1380VA 
S=1380VA

η =P/Pleadott
P=η*Pleadott
P=800W

b)
Cos φ=P/S=800W/1380VA=0.57971
Cos φ=0.57971

c)
Cos φ=P/S=Ihatásos/I
Ihatásos=Cos φ*I=0.57971*6A=3.47826A
φ=54.5698

Imeddő=Ihatásos*tg φ=3.47826A*1.405569=4.88894A
Imeddő=4.88894A

d)
cos φ1=0.57971 (Mostani)
φ1=54.5698

cos φ2=1             (Kompenzált)
φ2=0

C= [P*(tg φ1- tg φ2)]/3*U^2*ω =[800W* (1.40557-0)]/3*230V^2*2π 
*50Hz=1124.455/49857075.4=2.25535µF
C= 2.25535µF


